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STATION #2:

Triangle Congruence

Determine. whether each pair of triangles is congruent. If so, write a congruence statement
and explain why the triangles are congruent. If it is not possibl
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e, write nof possible.
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Write a two column proof,

4' Given: GK 1s the pcrpendicularbisectorgf—ff’f_{.
Prove: FG = HG
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TATION 4

Parallelograms

If edacb quadrilateral is a parallelogram, find the values of x, Y,
anda z.

4. In parallelogram ABCD, m/Z A = 3x 5. In parallelogram RSTV, diagonals
and mZ B = 4x + 40. Find the measure RT and VS intersect at Q. If

of angles A, B, C, and D. RQ=5x+1and QT = 3x + 15,

find Q7.
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Find the values of x and y that ensure each quadrilateral is a
parallelogram.
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AX+Y K+HYO0 = 120
X +HO= 12O
7% = 140




ALGEBRA Identify the similar triangles, and find x and the measures o
~ indicated sides. -

3.LM and QP 4. NL and ML
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5. Chris wants to reduce a triangular pattern with sides 16, 16, and 20 :
centimeters. If the longest side of the new paftern is to be 15 cm, how long
should the other two sides be?
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1. Use the figure to find:

€L X= B

. MALAT = |5%°

Cc. maTAO -

d. MAPAO - 1s5°




Given: Cis the midpoint of BD, AB = AD

Prove; A

AABC = AADC /0ef ok rudpaint
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STATION #7:

Volume and Surface Ared

1.What is the volume of @ squore pyramida with side Ieng’rh

—

(x-3) and height of (9x)’> “x-aYx-2AAK)/ st
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2. Find the volume and surfoce Qreq: T wee o pock

- = - P
Se— v
A—— — . - bl ——y G—— &—‘l__‘

3. A cylinder and a cone have the same base and equal
volumes. If the cylinder is 15 inches tall, how tall is The
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